A | 250W HPS

B | 400W HPS

e
(nn.& *\( \W
s e—em=— 250w Or 400w Hps | GARLAND
e [es403 | cP LIGHT ON 14 MAST POWER&LIGHT
ARM TYPICAL TR
REVISED AY: |DATE: APPROVED BY: |NSTAI_LATION OH_1 005
- A\ A\ y,




CONSTRUCTION STANDARD NO. : OH-1005A

TITLE: 250W HPS LUMINAIRE ON 14' ARM REV. DATE: 9/16/2003
PIC. # DESCRIPTION IBM NO. QTY.
1 BRACKET 14' UPSWEEP MAST ARM | 528-10-80360 1
2 LUMINAIRE, 250 WATT, HIGH PRESSURE SODIUM W/ SHORTING CAP, 528-50-17000 1
120VX240V
3 - LAMP IGNITRON 250W HPS 528-40-12130 1
4 CONTROLLER PHOTOELECTRIC 1000 528-55-12070 1
5 BOLT MACHINE 5/8" X 14" W/NUT 285-08-10788 1
[ e NUT WASHER 5/8" THREAD JOSLYN 285-08-14674 1
7 BOLT DOUBLE ARMING 5/8" X 14" 285-08-21552 1
8 #12 CABLE TYPE SIS STR SWBD 500 FT ROLL- truck stock 280-16-13605 20

Thursday, August 11, 2005 OH-1005A MNGO



CONSTRUCTION STANDARD NO. : OH-1005B

TITLE: 400W HPS LUMINAIRE ON 14' ARM REV.DATE:  5/21/2002
PIC. # DESCRIPTION IBM NO. QTY.
1 BRACKET 14' UPSWEEP MAST ARM 528-10-80380 1
2 LUMINAIRE, 400 WATT HIGH ﬁliESS. SODIUM W/ SHORTING CAP, 120V X 528-50-17005 1
240V
3 LAMP HIGH PRESSURE SODIUM 400w 528-40-12140 1
4 CONTROLLER PHOTOELECTRIC 1000 528-65-12070 1
5 BOLT MACHINE 5/8" X 14" W/NUT 285-08-10788 1
[ 6 NUT WASHER 5/8" THREAD JOSLYN 285-08-14674 1
7 BOLT DOUBLE ARMING 5/8" X 14" 285-08-21552 k]
8 #12 CABLE TYPE SIS STR SWBD 500 FT ROLL- truck stock 280-18-13805 20

Thursday, August 11, 2005 OH-10058 MNGO



